
Soluzione: V O (t) = V O0 cos (2 ω 1 t + ϕ 0),  V O0  = 0.224 V, ϕ 0 = 3.60 rad

Soluzione: ν M = 1.59 kHz, |A M| [dB] = -0.907 dB, ν C1 = 142 Hz, ν C2 = 17.8 kHz .

Soluzione: W = 0.460 W.



Soluzione: L x = (50.1 ± 0.3) mH , R x = (103.71 ± 0.09) Ω , Re (Y x) = (9.43 ± 0.11) 10 - 4 Ω - 1 

Soluzione: W = 0.449 W .

Soluzione: W = 18.3 mW , E = 8.15 μ J .



Soluzione: R p = 820 Ω , C p = 0.195 μF , Δ R p /R p = 0.166 %

Soluzione: W = 15.6 mW .

Soluzione: V 20 = 2.50 V , φ = -2.68 rad , E C = 4.15 * 10 - 6 J .

Soluzione: ω M = 8165 rad/s , A (ω M) = 0.990 .



Soluzione: R p = 883 Ω , C p = 0.287 μF . 

Soluzione: V C (t) = V0 + V C10 cos(ω 0 t + ϕ 1) + V C20 cos(2 ω 0 t + ϕ 2 ) ,  V C10 = 2 V ,  V C20 = 1.11 V ,  
ϕ 1  = - π / 2 rad ,  ϕ 2  = -2.55 rad , E C = 1.81 * 10 - 7 J.

Soluzione: i = i 0 cos (ω t + φ) , i 0 = 0.706 mA , φ = 1.816 rad  ( α = 1.072 , φ = 0.480 rad)



Soluzione: C x = 0.9998 μF, R x = 120 Ω , Δ R x / R x = 1.5 % .


